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X. B¥IEE2) : l : x
“ AN 362.3 461.9 1,171.3 | 1,171.3
) 1
X, AsENE3) 805.7

LB A—F 2, TFE Fikmf



H& (mm/h)

PEIN

fiza p .\'-\_ ’,

1,193, dke* 3 -‘ £
S, S B b B el "._ .
e U 324, 7he’ ™y =

HEI L

3,558, Oke’

Ly 3

A

L

@

heRbd 1L 3R 3. 7T0EFAEHADOES:H
%o, LLTCEIREFIRZ R,
O BLFRBEONEEANT 3,
(B.42) A2 fEv, FSESORREN
2ERLIBENEEET 2,

@ QOTRZE->LSEFE T L OBER®S,
FEREROMEFYGR(3.43) XA
FAREMSDOERNE*EHT 5,

FEEREM 3.18127 7,

(B/l#th)

5.0

_____ = A
A .
] i‘l.ll5,?1tl'
% - S
_z'_ e g 4
sl | ERFARE] -,
! T “’E
2
1
0
1 2 3 4
(13.16 HXF/IFROBE
J L
1.0 SYEITOR | vOEA | A
7 — | Bk | 3558.00 | 9
2.0 &1 — | B & | 1660.70 | 7
g -|ZE @ | 2531.10] 5
Q1 PBo2 —— | g | 324.70] 3
£ — | & 3 N | 1115.70| 2
40— T | 114180 | 2
——= | BfFIE1) | 1193.40 | 3
- 5.0 —— | BHIE | 1171.30 | 1

B (hr)
®3.17 METHz -WE (SHSLHE)

3.18 HEHER (FyyvaEFLEHLEARER

No| ® M [ T
°l tmm/h) | ©°] (mm/h)
1 1.00 25 0.00
2 2.00 26 0.00
3| 300 |27] 0.00
4| 400 | 28] 0.00
50 5.00 [20] o0.00
6 4.00 30 0.00
7 3.00 31 0.00
8 2.00 32 0.00
ol 1.00 [33] o0.00
0] 3.00 |[34] o0.00
L[ 0.00 [35] 0.00
12| 0.00 |[36] 0.00
13 0.00 37 .00
14 0.00 38 0.00
5| o000 [[39] o0.00
16| o000 [40] o0.00
17 0.00 41 0.00
18 0.00 42 0.00
19 0.00 43| o0.00
20| 0.00 44| 0.00
511 0.00 (45| 0.00
22| o0.00 |46 0.00
23| 0.00 47| 0.00
24 0.00 48 0.00
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DO10i=1,n

HiiE q O

> DO 20j=1,i

qli)+ h(j) % r(i+1—j)—qli)

FEER O

= )




(3) Fars7Z7ALDY X b

00001 parameter (n=50)

00002 real y(n), x(n). h(n), tq(n)

00003 ios=0

00004 open(2, file='tan9.d', iostat=ios)
00005 do i=1,n

00006 read(2, *) h(i)

00007 end do

00008 close(2)

00009 ios=0

00010 open(3, file="yr8.d', iostat=ios)
00011 do i=1,n

00012 read (3, *)x (i)

00013 end do

00014 close(3)

00015 call keisan(y, h, x, n)

00016 ios=0

00017 open (4, file='tq8.d', iostat=ios)
00018 do i=l,n

00019 read(4, +)tq(i)

00020 end do

00021 close (4)

00022 do i=1,n

00023 write (*," (13, 212.5, f10. 3)" )i, h(i), y(i), tq(i)
00024 end do

00025 stop

00026 end

00027 ¢

00028 subroutine keisan(y, h, x.n)
00029 real y(n), h{n}, x(n)

00030 do i=1,n

00031 y(i)=0.0

00032 do j=1, 1

00033 y()=y(i)+h(j) *x(i+1-])
00034 end do

00035 end do

00036 return

00037 end
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Y1.Y2. YA, YBR2ZEHEHBLI-LD

T % bt

i

40 FA»YavDES
50

& 175 A DY

9 | Mk
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90 !

100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
330
340
350
360
370
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540
550
560
570
580
590
600
610
620
630
640
650
660
670
680
690
700
710
720
730
740
750

bR (M) i £ 3
R 7o 277450 A b

st i 5

Atl,1,1)=0
g =1
Al2,1,1)1==-.1224
L2.10=-1.1481

7

ADHEZERD D

A(20,20,20),1¢100) ,XC100),TC100),YACLI00) ,YBC1OD)

B)Fus7F ALY R

SEBEROER KD 5
a7 AL AR

10
20 Q
"""""""" 30 Q
40 N
50 M
60 F
70 H
80 M
90 Y
100

(N*Q) "H1) * (EXP (N%Q)) ) /M
IF ¥Y<.001 THEN 120

M=2 TO L

FOR I=1 TO N-1

FOR J=1 TO N

ACL,J . M)=ACI+],J . M-1)

NEXT J

N=2

AN, L . MY=A(2,]1,1)%A(N=-1.N.M)

FOR J=2 TO N

AIN,J, M)=A(N=-1,J-1,M)+A(2,2,1)%A(N-1 N.M)

NEXT J
NEXT 1
------------ G COMIERY D
HB=1:WA=1:WB=0:WC=0:WD=1
FOR M=1 TO L

HA=M

HB=HB*HA

W=A(l,1,M)/HB

WA=WA+W

W=A(1,2,M)/HB

WB=WB+W

W=A(2,1.M)/HB

WC=WC+W

W=A(2,2,M)/HB

WD=WD+W
NEXT M
PRINT " (1.1
PRINT "® (1.2
PRINT " (2,1
PRINT " (2,2)=" ;WD
e H9 romastxes
HB=1:RA=1:RB=0:RC=0:RD=1
FOR M=2 TO L

HA=M

HB=HB*HA

R=AC1,1.M-1)/HB

RA=RA+R

R=A(1,2,M-1)/HB

RB=RB+R

R=A(2,1,M-1)/HB

RC=RC+R

R=A(2,2,M-1)/HB

RD=RD+R
NEXT M
BRINT " T (1,1
PRINT "T (1,2
PRINT " T (2,1 ".RC
PRINT " (2,2)=":RD
o WX EMORBEERD B
OPEN "B:¥2KA.K3" FOR INPUT AS #1
OPEN "B:¥2KA.OUT" FOR OUTPUT AS #2
INPUT #1.1.X¢(D)
T =1
YA(O)Y=0:YB(0)=0
WHILE NOT EOF(1}

INPUT #1.1.X(I)

Tely=1

Yi=YAC(I-1)

Y2=YB(Il-1)

YACL) =WA%Y 1 +WB*Y2+RB*X (1) /8.17
YBCI)=WCxY1+WDkY2+RD*X(1)/8.17

PRINT #2 TC(1), YACLD)

PRINT “YA=",;T(l) JYACD)
WEND
CLOSE

"iWA
" WB
L WC

"iRA
":RB

)
)
)
)

END

__38__

110 NEXT H
120 PRINT
130 END

"Y="Y " HE ="HI



